o e e
o N N
— 4 4
m o o
=R = e
2 1z |3 &
- ) o m
m c_ N
g R ©
3 © U
= —
N
D
>~
-8.29 184,15 2
gr. pasa dl’OgO €90 O\
- .
-\
-\
-\
-5.05 184,20
—4./0 184,20 —
~4,30 183,96 1 070
>~
-3.05 184,66 AN =
-2.50 184,72
-
-\
O
0.00 [184,23 184,78/ 08 drogi )
+2.50 184,72 ==
oo
+3.25 (184,35 184,66 0o
(@}
+4.30
183,96
+4,70
+5,81 184,71
+6.77 184,84 \
+9,74 (184,70 gr. pasa drogoweg
o e} 0
[w) N N
— 4 4N
m (- o
LR =T o
2 |2 |z &
- X (@) CD
m c N\
g |2 ©
3 |© U
= —
™~
D
>~
-
O\
- .
-\
I~
4,06 190,00 ogrodzenie —_
I~
-312 189,76 {
189,71 ; -
-2,50 189,76 |4 3
-
0.00 [189,40189,820§ drogi O
-\
@N
+2.50 189,76 =
C)II
+3.25 189,70 ’ Do
+4.30
+4,70 189,000 || 070
N\
+4,90 (189,30
+7.25 189,20
+10,25189,30 gr. pasa|drogowego
s F =
2 w =
6 5 53¢
18 | 2 {Q >z
25 3 8 isB§
18 [0 o g-NEE%‘
2% = S |. o
IR
i N £ 23k
[0 A o
ol 4 |§ T =0
Nl o [fxu0¢g
5 g 8038
o 8 52R8
8 £59W
=y

(@) pe) pu)
|-} N N
— 41 M
o |12 |2
= ) ) —
28 — o Q0
e 15 |18
ERNE =
O
3 U
= -
N
D
P
-8,29 182,70 —~
gr. pasa drogowego O\
- .
—_ N\
-
-5,28 182,75 | .
-4.70 O
—4,30 182.36 070
=
~3.05 183.06 AN =3
-2.50 [182,80 (183,12 I
-
—_ N
@GN
0,00 [182,87[183,18|0s drogi -
+2,50 183,12 z=
on
+3,25 183,06 %
+4,30
182,36 |
+470
+5,79 183,09
+6,77 [183,13
+9,62 183,29 gr. pasa drogowego
o X 0
e} N N
— M 47
a 12 |2
=5 ) ) —
2 a2 |3 @
R ER
g |2 O
3 @ U
= -
BN
D
P
-8,18 [189,00 -
qgr. pasa droghwego O\
- .
_ N\
@GN
-5,70 188,50 |
=547 188,48 BN
-4.70 @GN
—4.30 186,11 0.70
P
-3,25[188,30(186,81 3
-2.50 186,87
-
NO
-
0,00 [188.23]188,78]0s drogi >
+2,50 188,72 z=
+3,25 188,66 S
+4,30 188,10 /
+4.70 187,96 Y070
+4.88 188,00
+8,36 /188,00 gr. paga drogowego
(@) e pu)
o N N
[ 41 JM
o |12 |2
= i i —
2 & |z |8
S |3 |z
2 |5 o
_ X
s [~ U
= ‘ -
-4,00 192,71 ogrodzenie N
D
=312 192,65 =
=
192.60 N
~2.50 197.65 )
_ N\
D
0.00 [192,56[192,71]0% drogi |
_ N\
D
=
+2.50[192,60[192,65 3
+3,25 192,59 -
NO
SN
OO
_ N\
_ N\
+7,50 192,35
=z =
I
O N
85
13,03 192,30

o e 0
o N ~N
— M M
o =2 =
5 m ™ —
UN — he ~
SRR
g X ©
5‘ O
=
m
8,29 181,00
gr. pasa drogowego
-6,07 181,09
-4,70
-4,30 180,17 |
~3.25[181,20 |180,87 \
-2,50 180,93
0.00 [181,30 [180,99|0s drogi
+2,50 180,93
+3,25 [181,60 180,87
4,30 /
180,17 |
+4,70
+6.88 181,63
+9,44 181,65 gr._pasa_drogoweg
o ) 0
(w) N N
— 47 M
o =2 (=
ay ™ fal —
72N — he Q0
B U
g |2 ©
5‘ O
=
m
8,29 186,65
gr. pasa drpgowego
5,46 186,62
-4,70
—4,30 186,11 b 1070
~3,25 [186,60186,81 N
-2,50 186,87 \t
0.00 [186,55186,93]0s drogi
+2,50 186,87 -
+3,25 186,81
)
a0 186,11 1 1070
4,70 ’
+5,42 186,59
+6,07 |186,60
+9,88 (186,45 gr. pasa Jrogowego
o e 0
o ~N ~N
Hog |8
2 m & |
O — o Q0
S 5 |8 |0
2 s [
[ = ()
3 O
=
m .
—4.00 [191,00 ogrodzenie
-3.12 190,64 /
190,59 .
=2,50 190,64
0.00 [190,44]190,70]0s drog
+2,50 190,64 ]
+3,25 190,58
+4,30
+4,70[190,05[189,88 L 0.70
N
+6,90 190,00
13,03 1190,10

YOLH0 W 66 [01fozid

dad §¢

00°0=N
G9'0L=M

0IXaZl-

|

Mid G6°9/1+0 UM 71-7|

0¢'0=N
GET=M

Y0 W GL-G| [oppzid

A0 B0

08°0=N
0v'Z=M




